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—ER%E % 125 25.0 = = = 62.5 = 100.0
EEREY— | HH - 2 - - - 1 - 3
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1AL fiin 5 11 2 - 1 3 - 22
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ER-HRE 55 6 10 11 6 - - - 11
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HHBER 55 23 42 42 17 - 2 - 47
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% 452 67.7 85.5 51.6 = 3.2 =
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SR-RIRE | 4% 15 18 21 9 - 1 - 21
% 714 85.7 100.0 42.9 = 48 =

ToE-NS | HE 5 7 8 3 - - - 9
58 % 55.6 77.8 88.9 33.3 = = =

i -EER | & 3 6 9 5 - - - 11
fliy—E' A% % 27.3 54.5 81.8 455 = = =

wa-HEY | 4% 2 3 8 3 1 - - 9
—Ex%E % 22.2 33.3 88.9 33.3 11.1 = =

£EEEY— | #H% 2 2 2 1 - - 1 3
ER-JREE % 66.7 66.7 66.7 33.3 = = 33.3

HJ—ERE i 18 36 A 17 1 1 - 45
% 40.0 80.0 91.1 37.8 2.2 2.2 =

ZDith i 3 12 12 4 - 12
% 25.0 100.0 100.0 33.3 = = =

CESA 5 7 11 12 3 - - - 13
% 53.8 84.6 92.3 23.1 = = =
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[P 371 % 452 83.9 952 58.1 = 3.2 =
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AR % 524 93.3 93.9 54.9 = 1.2 =
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B ] % 51.9 78.8 94.2 48.1 = 2.9 =
5FE~1Jk 5 6 10 12 8 - - - 12

B ] % 50.0 83.3 100.0 66.7 = = =
1JKAUE 55 7 13 14 1 - 2 - 16

% 43.8 81.3 87.5 6.3 = 125 =
E&&ZL 55 15 34 26 14 - 2 - 37

% 40.5 91.9 70.3 37.8 = 5.4 =
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500fE~1F1&| ## 70 126 148 76 - 4 - 155

B3] % 45.2 81.3 955 49.0 = 2.6 =
1FE~5TE| HH# 140 235 252 140 - 5 - 268

[ F 371 % 52.2 87.7 94.0 52.2 = 1.9 =
5F{E~13k i 32 45 53 35 - 5 - 55

[ F 371 % 58.2 81.8 96.4 63.6 = 9.1 =
1AL 15 38 55 57 35 - 4 - 59

% 64.4 93.2 96.6 59.3 = 6.8 =
E&&ZL 155 21 39 35 21 - 2 - 46

% 457 84.8 76.1 45.7 = 43 =
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DX LD QBEAH|OQBEAD @D H5|OHRIL4|E©OFDH
REEXEHBNI/ORES (MR 138 B#AL |(0F@omE|hot HEHZL | ST
£
E15 (500 AKH #5 8 15 11 - - - 18
% 444 83.3 94.4 61.1 = = =
500 ~ 750 A| #H# 19 29 15 - - - 31
Rl % 61.3 93.5 96.8 484 - - -
750~1 FA| ##% 9 17 13 - - - 23
Rl % 39.1 73.9 87.0 56.5 = - -
1 F~2 FA| BE 43 78 44 1 2 - 92
R % 46.7 84.8 94.6 478 1.1 22 -
2 F~5 FA| HH 59 101 106 61 - 4 1 112
R % 52.7 90.2 94.6 54.5 = 3.6 0.9
5 F~1 BA| HH 29 44 33 - 1 - 49
R % 59.2 89.8 91.8 67.3 - 2.0 -
1BARL ik 39 57 45 - 5 - 63
% 61.9 90.5 95.2 71.4 - 7.9 -
EZE%GL i 2 2 3 - - - 4
% 50.0 50.0 100.0 75.0 - - -
HEEHANIORES ©) @ ® @ ® ® EELGL | T
JE E15 (500 AKiE ik 1 2 2 - - - 3
% 33.3 66.7 100.0 66.7 - - -
500 ~ 750 A| %k 36 67 36 - - - 82
Kis % 439 81.7 87.8 439 - - -
750 ~1 F A| H# 49 78 36 - 1 - 91
R % 53.8 85.7 93.4 39.6 - 1.1 -
1 F~2 FA| B# 68 125 150 60 1 2 - 158
R % 430 79.1 94.9 38.0 0.6 1.3 -
2 F~5 FA| H# 50 78 53 - 3 - 103
R % 485 75.7 89.3 51.5 = 29 -
5 F~1 BA| HH 18 29 13 - 3 - 37
R % 48.6 78.4 86.5 35.1 = 8.1 -
1BALLE i 11 17 12 - - - 21
% 52.4 81.0 100.0 57.1 = = =
E&%EL ik 2 7 5 - 1 - 9
% 222 71.8 88.9 55.6 - 11.1 -
HEESHAIORESH @ ©) @ ® ® EELL | 4T
A&t |500 AKX HE 9 17 13 - - - 21
% 429 81.0 95.2 61.9 - - -
500 ~ 750 A| %k 55 96 102 51 - - - 113
K % 487 85.0 90.3 451 = = =
750~1 FA| #H% 58 95 105 49 - 1 - 114
R % 50.9 83.3 92.1 43.0 = 0.9 -
1 F~2 FA| BH 111 203 237 104 2 4 - 250
K % 444 81.2 94.8 41.6 0.8 1.6 =
2 F~5 FA| HH 109 179 198 114 - 7 1 215
Rl % 50.7 83.3 92.1 53.0 = 3.3 0.5
5 F~1 BA| HH 47 73 46 - 4 - 86
R % 54.7 84.9 89.5 53.5 - 47 -
1BARL i 50 74 57 - 5 - 84
% 59.5 88.1 96.4 67.9 = 6.0 -
E&%EL ik 4 9 8 - 1 - 13
% 30.8 69.2 92.3 61.5 - 7.7 -
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